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Part — 111 Time : 2 Hours
COMPUTER APPLICATION Cool-off time : 20 Minutes
(COMMERCE)

Maximum : 60 Scores
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There is a ‘Cool-off time’ of 20 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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10.

11.

12.

13.

Answer any 3 questions from (a) to (e). Each carries 1 Score.

(a) The base of the binary number system is
(b) Expand ASCII.
(c) 1Byte= Bit.
(d) Pictorial representation of an algorithm is called
(e) Pick odd one out :
Opera, Mozilla Firefox, GIMP, Internet Explorer

Answer any 11 questions from 2 to 21. Each carries 2 Scores.

Convert the decimal number 20 into binary number.

Write the 1’s complement of the following binary numbers.
(a) 10001

(b) 11111

Define Unicode.

Categorise the following into input and output devices :
Joystick, Printer, Speaker, Keyboard

What is e-waste ?

What are syntax errors ?

What is debugging ?

Define keyword.

Differentiate binary operator and unary operator.

Define variable.

Differentiate = = and = operators.

Rewrite the following expression using arithmetic assignment operator :

(a) x=x+5i
(b) a=a=xbi
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10.

11.

12.

13.

(a) 2@@3 (e) AUWSHOVBB 21034 oBO@BILNS 3 A ANOVIM BN

a9} . 1 capod alloo. Bx1=3)

(@)  eemimal mmIA Mguemleng cmiay’ @1RHY)aM).

(b)  ASCII ©9S al)@6D @)alo af) @)

() 1eeemg= enilg.

(d) @rom‘&csmod@mhc@ 2@ OIcleel (IGlTlwomamlom a)am’
aflgleman).

(e) ©26% OBISTMAUDT NEMBTIM HAISITMBIOHM HDAETNIS)YTIT) )P
Opera, Mozillo Firefox, GIMP, Internet Explorer

2 m@@3 21 19038 ¢a10ByEBSEIG ago®rlene 11 aggnolm’ 20emos
af) 9. 2 capad afloo. (11x2=22)
20 ag)am ©WIVIAG3 TMVoaIO® HHENINT] MVoaIJIECLISS D).

@069 HBHISIODIBIBININ HSENINT] MR IWIOS 1°s CH0a 10003 ag)9)®)H.

(a) 10001
(b) 11111
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Joystick, Printer, Speaker, Keyboard
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(@) x=x+5i
(b) a=a=xbi
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14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

Write two methods of type conversion in C++.
Write the syntax of if.... else statement.

Write two examples for entry controlled loop.
What is loop controlled variable ?

What is repeater ?

Briefly explain LAN.

Define search engine. Give one example.

What is e-Governance ?

Answer any 10 questions from 22 to 41. Each carries 3 Scores.

Explain any three advantages of computer.
Compare data and information.

Write any three functions of operating system.
List any three language processors.

Draw any three symbols used in flow chart.

Explain two types of documentation in programming.

Find out the invalid identifiers from the following. Justify your answer.

amount, float, 2B, B2
What is meant by escape sequence ? Give any two examples.

Find out the result of the following operations :
ifx=10and y=3

(@) (+y)x@x-y)

(b) x%y

(c) x>y
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14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

C+ oe1 06Ne ®OOILNSS 66Sa | HENMBEAGHMIBRIOS Cald af) F)®)D .
if.... else (IMOAMDOS CLISM af) ) DD

af)B(S] @eMBE(SOUBA L1)a I OENE DBIAOOEMEIBUB af)$I®)d.

Ela | GEMESIBA ¢aIGI@NNU3 af)amO@3 af)a®I6m ?

Flaflg8 ag)aMO@3 ag)amoem ?

LAN agan@leom @)0laf e1eel) allaiosmo agf)9)alid.

B e lad M1BQYa l0)d>. B30) DBIAOBEMo af) LY.
ED-NEAIBEMABAV af)IMO@ ag)a®061N ?

22 )@@3 41 A190WBB ¢al3iBSE@ aBomsrlene 10 afanOTIM’ oMo
af) ). 3 caad alloo. (10 x 3=30)

HMIPS01OAT aBO@BIEN0 AN CAMBHUD ANlQIClH9)D .

WOQW}o ENMBANBEAHM)o DOODALe 62101

830a|coglossn aUlaLEaTIOM] ago@leN0 MAN (@ IAIGATIDHUB af)9)®)D.

ARO@BILN0 M)AN LIOENIEE O IOTVIVB af) 9 )®)D>.

Ga Q0 210051@3 DaICWIIBNIM aBOD@BILI}0 M (21T BHEBUB QIOHE)M.
CaI0I2131E8 DalEOWlENIN PMEYMAo CALIGNONCAGoHOM d)Ola] ANlAIClH9)D .
@009 ©BHOS)AleMMAilEs Mlanje GRAVOWNN®  HafWWANVWNDHOS DN

allSles|9)®)d. TeIB8)HS DAMOHDB TVIWIB BB
amount, float, 2B, B2

af)VOBQ  AUBHIMBAV af)dN@  OGHIME  GRAMONIHNIMD  af)INOM  ? QM
©B0a00EMEIBUD af)9I®)D>.

x =10, y = 3 Gp@i@8 069 63HS)OTIBIE9NIN 630a|COaHENG aOLlo ag)IDIEM
(@ +y)*@x-y)

(b) x%y

© x>y
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31. Explain any three fundamental datatypes in C++.

32. Differentiate ++ and -- operators.

33 Write the structure of C++ program.

34. Find out the initialisation, test expression and update statement in the following C++
code :

for(i = 1; 1<=10; i++)
{

cout<<”\n”<<1i;

}

35. Write the syntax of while loop statement.

36. List any three advantages of computer network.

37. Differentiate Hub and Switch.

38. Define email. Write the sections of email.

39. What is computer virus ? Give any two examples.

40. Write any three advantages of e-Business.

41. List any three e-Learning tools.

Answer any 1 question from 42 to 44. Carries 5 Scores. (1x5=95)

42. Explain any five computer input devices.

43. Briefly explain the phases of Programming.

44. What is topology ? Briefly explain different network topologies.
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31.  CH++ el aga@sslel) 2)an @RSIaundm adg 06Sa lde8 &)0la] allaidlve)d.

32. 4+, - a)aTl B0a|COQIBHBIOS AIY®IOAVo af)9) D).

33 CHt cltowoalead 2eISM ag)9)o)d.

34, ®26% 6305)0GleeM CH 620al@d alan)e initialisation, test expression, update
CARQONOG HeNE)n 1Slaf ag)9)@) :
for(i = 1; i<=10; i++)

{

cout<<”\n”<<i;

}
35.  while enaj'caugeoaadlaag LIS ag)9)®)d .
36.  &HMIYSB ONMQAIBH OBV aBO@EILN0 M CAMDBUD af) ).
37.  a0&ni)o AVjlajjo ®olENSS QIY® OTVo af)P)@)d.
38.  0-020]c3 MBQ|al¥9)d. D-620elead GOUEBU af)P)®).
39.  &MIRgA HHAUOTV ag)aANIM3 af)aIEM ? QNS DBIaOVEMEIBUD af)9I@)d:.
40.  g-niadlmqiland ago@eslele 2)aN CAMBHUB ag)9)®)d.
41. agemsslele MM -GEIATIEE SIBIGHBINS Cald af)9y®)d.

42 m)®@3 44 A1HOW)BS ¢a10B83EBSEIT3 aBo®BBIEle 1 af)INOTIM DENODA)®)c>.
5 capod. (1x5=5)

42.  agoo@®lene @re T BMIYSA HMBaI5 DaldHEMEBOS @3h)Glaf allvodledlee).
43.  cpiowalemlan allallw ceigamdd elee)ddla] ag) 9)®)d .

44.  €S0caogedl a)aINO@3 af)ImIEM ? QY@ TVEBBOW OHMQAIABE ESOCa o8O @dh)la]
BIPENGBla | af) 91>,

FY-346 7



FY-346



